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- FAarci - iy b oy 4 wJl JVgali 31 (U g=
i s
) A sample of calcium sulfate CaSO,4 has a mass of Tlead Ysa oS 884 g 1S CaSOy pendlSll Gl )< 0 diie

884 g. How many moles is in i1?

Ca = 40 gfmol S =32 gfmol O =16 gfmol

Q 3.8
¥0) 6.5
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D

What is the complete icnic equation for the following reaction? ?(;JBH Jelall e gl QJH ALt 2oy Aaleoll Le

Li2504[:3q) + Cﬂ(NOg)g(aq} —_— Q.LiNOj(aq] + 03804(5)

r 1
1 1
i ® 2L ey + SOs gy + Ca™ g + 2NOs gy ——+  2LI g + 2NO; i+ CaSOy, i
i i
T o o . o
O Ca fag) + ».JD_,F'{,Q} —_— 09504{5}
O 2LT" gy + SO ag) + Ca¥ ey + 2NO5 i ——»  2LINOy, + Ca™yq) + 5041‘[3,:}

Q 2L-|+|{E.q:| + 5042_[aq) T GEEH(EEI:I 3+ ":I_NDH—{“]—'- ELi-_(aq)‘F ENOS_(aq] + G.’:‘Ii"‘{aq} + 5042_[5-&1)
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D

What is the correct ascending order of the following Vsl dae Cooes LGN Slieadl sl (gae Laill gl L
samples according lo the number of moles from ihe Y Y e

smallest to the largest?

3.75 x 10 atoms Zn -  3.65 x10**molecules C4H;,0s - 18.8 mol Fe

Avogadro's number = 6.02 x 107 6.02 x 10%% = 5 alagdl dae

(The smallest) 18.8 mol Fe ——— 3.75 x 10% aloms Zn —— 3.65 x10* molecules C¢H;,04(The largest)

(,5Y1) 3.65 x10* molecules C¢H ;0 «—— 3.75 x 10%° atoms Zn «—— 18.8 mol Fe ( acY)

(The smallest) 3.75 x 10* atoms Zn ——» 18.8 mol Fe ——3.65 x10°! molecules C¢H,,04(The largest)

@

(59 3.65 x10* molecules CgH1205 «—— 18.8 mol Fe «—— 3.75 x 10> atoms Zn ( x.a¥)

CH BB B-2023-2022 Wl whl Jeddl lg glisl - elyess] - paiiall Jluall - niila)l el
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D Part2 - juSsllg Lo pale AU (J] S¥sall 3ac Jy g

What is the mass of 4.50 x 10? mol of cobalt Co? ?Co wbs&i e .50 x10% mol b€

58.933 gfmol = b SH 2l akS
molar mass Co = 58.933 g/mol )

O 3.90 x10% ¢
¥0) 2.65 x10" g §
O 4.60 x10* g
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D Part2 - dyleill US| SUlyg dUSU & glall duulll o Lo oSyal dutysxlls Aol 2uall yan
Propane is a hydrocarhon, compounds compesed cnly QsSl (e Jadd (588 ClSha by Slig Sy pagdl e Sl
of carbon and hydrogen. It is composed of 81.82% Cpagoua 18.18% 5 (sS 81.82% (e 58U «Cpngpaaglly
carbon and 18.18% hydrogen. What is the empirical folig sl AV Al La

formula of propane?

H=1.008 g/mol C =12.01 g/mol
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X ; v | Bromine ay )
D Least Javl ' lodine sa)
active sLts |
O Bryg + 2Nalagy —
® Bryg) + 2LiClag)
O Fq(g) + ZKCI(EQ) -

a O Fyg) + 2NaBrgy —



-

In {2) gas bubbles is not an evidence that

a chemical reaction has occurred

In (1) a chemical reaction occurred while in

(2) it did not

-------------------------------------------------------------------

In (1) and (2) apple color change and gas
bubbles are considered evidence that a chemical

reaction has occurred

In (1) the change in the color of the apple is nol

28:14 ‘ N ‘o 22-8 O‘ 2 E BB B-2023-2022 St el Jodl Glg glaial - eluass)l - paiiall luaadl -l sl

5

Shak Jeld dipa e Sl Ll S sl (2) A

By o (2) A Ly (oS Jelin Baas (1)

Chind S el g dalal) (g aa (2) 5 (1) B

Sl deli digan e d

e Jeli Bipan e Ty o sl ol L (1) 3
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4 3 2 1
Tt o gdtal Moz CpsS 25
double-replacemeant | sihgle-replacemeant synthesls decomposition
Zadse ol i=.;:‘:..[ Jazd SISk S0
double-replacemenl | single-replacemenl decomposlilon synlhesis
gilal Japd godie Jasd Lt 25
slngle-replacement | double-replacement synthesls decomposilion
ilal Moz Zea Jagd LA T
single-replacemenl | double-replacement |  decomposition synthesis
& D
O A
O T 1
i ]
O] B ’
Il i i
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Which of the reaclions in agueous solutions below sy 8 olial Al Jillall & el g

produce a precipitate?

O H,SO4laq) + CaCO4ls) — H,0(l) + CO,lg) + CaSO,laq)
O 2HI(ag) + Li,S(ag) — H,S(g) + 2Lillaq)
0 2NaOH(ag) + CuCl,tag) — 2NaCllag) + CulOH)s)

C HBr(aq) + NaOH(ag) — H,0(l) + NaBrlaq)
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What is the percent composition of oxygen in THCIO, @byl ynes & OuneY it Aol Ll La

1
) perchloric acid HCIO,?

H = 1.008 g/mol Cl = 35.45 g/mol O =16 g/mol

O 35.3 %
H O] 63.7 %
O 1.00 %
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> [

O FEClg(aq} + SNaOH(aq) —_— FE(OH)3{M} + SNECI(S}
O FECIa{aq) + NEOH[HQ] S FE(OH)E(S}‘F NaC](ﬂq}
X0 FeClyag +3NaOHpg —»  Fe(OH)yq+ 3NaClyy

0 O FEC[B{EQ) + NEOH(aq) - Fe(OH)S(Eq) + NECI(S)



2737 | W ‘[ A 27 - 22 O‘ Z H B .23-2022 WG gulh)l Jedll Glgi olisl - cluesS] - paiiiall Jluall jolall wadl | =
D 2NaC|(s) SR ZNa(S) +C|2(g)

Na = 23.0 g/mol NaCl = 58.45 g/formula unit

----------------------------------------------------------------------------------------------------------------------------------

H0) 321 g :
O 254 g
O 127 g
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D is used. What is theoretical yield?
1
Zﬂ(s) + lg(s) EE— Zﬂ'g(s)

Molar Mass of Znl, = 319 g/mol Znl, = 319 g/mol 3 A gt Akl
O 228 g
O 2234 g
0] 1117 g
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rY

= Sclid calcium hydroxide decomposes by heat into lall p g€l sl W 5hatly aboall o pu €I 2uSg pan SISE
D solid calcium oxide and waler vapor as in the equation (e 59.2 g Hlaaxd S0y colial Aalead o LS el iy
below. If 59.2 g of Ca(OH), is used at the beginning . Ca0 3+ 40.32 g zu; Jelah L1y 3 Ca(OH)a
of the reaclion and 40.32 g of CaO is produced, whal €252 pall dagiall Apall Lad

is the percent yield?

Ca(OM), (s) = CaO(s) + M, 0(g)

Molar Mass of Ca(OH), = 74.0 g/mol Ca(OH), = 74.0 g/mol 3 3dga aksl

Molar Mass of CaO = 56.0 g/mol Ca0 = 56.0 g/mol 3 agall akl
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-

D Avogadro’s number = 6.02 x 10% 6.02 X 108 = g slagl s

molar mass of He = 4.00 g/mol 4.00 g/mol = ayehigll 25 LS

40! 63.8
O 45.5
O 36.9
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mass of ihe excess reactant?
D

ELI(S) + Brgw —_— ZLIBI(SJ

Molar Mass of Li = 7.00 g/mol Li = 7.00 g/mol 3 adg.dl aksl

Molar Mass of Br, = 160.0 g/mol Br, = 160.0 g/mol 3 3.l aksy
40 68.4 g
18.7 g
21.8 g



27:40 ‘ N ‘o 22 - 21 O‘ O H S4B B-2023-2022 Wbl (wlal Jodll Glgi olisl - el - paiiall jluall - pilall Ciaall

-

D

of 175 g of CaCQO;? 1CaCC; apdllSh g€ e

CaCO4(s) + 2HCI(aq) -~ CaCly(aq) + H,0() + CO,(g)

Molar Mass CaCO3 = 100 g/mol 100 g/mol = CaCO; ddsa ikl
Molar Mass CaCl, = 110.9 g/mol 110.9 g/mol = CaCly &3zl k<)
O 31.59
O 77.0 ¢
o 04
i 0 388 ¢
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. mass of solid Iron produced?
D GNE{E) + FEzog(gj _— 3NE|20(5:] +2FE(5)

Na = 23.00 g/mol |Fe = 56.00 g/mol | Fe,O3 = 160 g/mol

® 140.0 g
@) 75.00 g
O 81.00 g
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D

Part2 - dgjae duliasS dilee o dleall qruwlll 4UIS

What is the number of mole ratios you can write for A0 Jelall LS liSey A Adgall ol 220 oS

the following chemical reaction?

Cu+2H5504 — CuS0O4+ 505 + 2H-0

g 2 ©

30



1| oBE S B B -2023 - 2022 LUl wlyadl Juaidl dilai olxisl - clpasS)l - padial] jlusal] - riladl Cauall
Part - dulia Sl d2pally Jooll buyd I SBU=]
Whal is the number of moles of sulfate ions present in o4 3.750 mol 3 Sl Sl el C¥sa dac oS
3.750 mol of Il'on(lll) sulfate Fe,(SO4)3? SFes(SO)s (Ill)sall iy

R N N Y L L L L e R R N T
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D Part2 - digise dulasS Aslas e LgBlELal oSa] (WUl Cl5Ms)l
1
In the reaction below. Which of the following is correct? frenia Ak Lae g Lobial Jelanl o

N_?_(g) +3Hg(g) Em—— ZNHg(g‘J

H = 1.008 g/mol | N = 14.007 g/mol

--------------------------------------------------------------------------------------------------------------------------------

(O  Adecrease in mass lakes place during the reaction Jelahl ol abey A ualt diay

(O  The sum of the masses of products equals 28.014 g 28.014 g (gl zolalll S ¢ gana



28:32 ‘ " ‘o 22 -3 O' S H 8B B-2023-2022 Wl whl Jedll Glg glaisl - el - padiall jlusd] - el iuall

D in 0.75 mol of AQNO;? ¢ AgNQC;,
Avogadro’s number = 6.02 x 107 6.02 X 10% = gjslasdl sac
O 9.0 x 10%
O 4.5 x 10
O 9.0 x 102



